Pravara Medical Trust's Ayurved College & Shri Eknath Ayurved Rugnalaya, Shevgaon

BAMS 3rd Students Attendance Report Month of July 2023 (UG).

	Name of The Student		Month of July 2023			
Sr.No		Year	Working Days	Present Days	Absent Days	Percentage
1	Bade Aishwarya Ambadas	3rd Year2020-21	25	22	3	88.00
2	Bagad Soham Dnyaneshwar	3rd Year2020-21	25	21	4	84.00
3	Bhandarge Abhiraj Ashok	3rd Year2020-21	25	20	5	80.00
4	Bhorkade Ajinath Subhash	3rd Year2020-21	25	21	4	84.00
5	Bodke Pranjal Rajendra	3rd Year2020-21	25	23	2	92.00
6	Chalak Dnyaneshwar Ashok	3rd Year2020-21	25	22	3	88.00
7	Changhate Lalita Raju	3rd Year2020-21	25	22	3	88.00
8	Chaudhari Jagruti Kishor	3rd Year2020-21	25	21	4	84.00
9	Chaure Dipti Ashok	3rd Year2020-21	25	23	2	92.00
10	Chavan Namrata Raju	3rd Year2020-21	25	20	5	80.00
11	Choure Ankita Bharat	3rd Year2020-21	25	22	3	88.00
12	Dahifale Vaishanavi Satish	3rd Year2020-21	25	21	4	84.00
13	Dawande Aditya Jaydev	3rd Year2020-21	25	22	3	88.00
14	Deshmukh Abhishek Ganesh	3rd Year2020-21	25	21	4	84.00
15	Dethe Neha Ravindra	3rd Year2020-21	25	23	2	92.00
16	Dhakne Rushikesh Sandipan	3rd Year2020-21	25	23	2	92.00
17	Dhaygude Sachidanand Rajesaheb	3rd Year2020-21	25	21	4	84.00
18	Dhondge Akanksha Vinayak	3rd Year2020-21	25	21	4	84.00
19	Dodmise Pragati Thaksen	3rd Year2020-21	25	21	4	84.00
20	Doiphode Vaibhav Uttam	3rd Year2020-21	25	20	5	80.00
21	Duratkar Onkar Balasaheb	3rd Year2020-21	25	19	6	76.00
22	Gade Abhishek Balasaheb	3rd Year2020-21	25	23	2	92.00
23	Gade Priti Kishan	3rd Year2020-21	25	20	5	80.00
24	Gadekar Sakshi Subhash	3rd Year2020-21	25	21	4	84.00
25	Gaike Komal Gokul	3rd Year2020-21	25	21	4	84.00
26	Gaikwad Divya Navnath	3rd Year2020-21	25	23	2	92.00
27	Gavali Yuvraj Santosh	3rd Year2020-21	25	22	3	88.00
28	Ghuge Vaibhav Santosh	3rd Year2020-21	25	21	4	84.00

29	Ingle Sonal Jivan	3rd Year2020-21	25	20	5	80.00
30	Jadhav Chanchal Uddhav	3rd Year2020-21	25	23	2	92.00
31	Jadhav Vishal Dattu	3rd Year2020-21	25	23	2	92.00
32	Jagdale Geeta Dharmraj	3rd Year2020-21	25	22	3	88.00
33	Jujgar Mansi Adeshrao	3rd Year2020-21	25	22	3	88.00
34	Jumbad Mayur Pundalikrao	3rd Year2020-21	25	21	4	84.00
35	Kadam Ritesh Anurudra	3rd Year2020-21	25	23	2	92.00
36	Kadwade Sumati Sangmeshwar	3rd Year2020-21	25	20	5	80.00
37	Kakade Akanksha Babasaheb	3rd Year2020-21	25	22	3	88.00
38	Kapade Kalyani Bhanudas	3rd Year2020-21	25	21	4	84.00
39	Kharat Gitanjali Namdev	3rd Year2020-21	25	22	3	88.00
40	Khedkar Akshay Vilas	3rd Year2020-21	25	21	4	84.00
41	Kolhe Arpita Tukaram	3rd Year2020-21	25	23	2	92.00
42	Kolhe Komal Annarao	3rd Year2020-21	25	23	2	92.00
43	Kothare Pratiksha Mahadeo	3rd Year2020-21	25	21	4	84.00
44	Kshirsagar Dnyaneshwar Ramanand	3rd Year2020-21	25	21	4	84.00
45	Lad Sanskruti Rajendra	3rd Year2020-21	25	21	4	84.00
46	Mache Vaishnavi Vijaykumar	3rd Year2020-21	25	20	5	80.00
47	Madake Gitanjali Appasaheb	3rd Year2020-21	25	19	6	76.00
48	Mahale Samira Raghunath	3rd Year2020-21	25	22	3	88.00
49	Marathe Pallavi Ratnakar	3rd Year2020-21	25	20	5	80.00
50	Mehetre Rutuja Satish	3rd Year2020-21	25	21	4	84.00
51	Mhaisne Pranav Haridas	3rd Year2020-21	25	21	4	84.00
52	Mhetre Supriya Ganpati	3rd Year2020-21	25	23	2	92.00
53	Misal Aarti Ramkrushna	3rd Year2020-21	25	22	3	88.00
54	More Kalyani Kailas	3rd Year2020-21	25	21	4	84.00
55	Mote Shubhangi Ravsaheb	3rd Year2020-21	25	20	5	80.00
56	Munde Pranita Umakant	3rd Year2020-21	25	22	3	88.00
57	Narsale Smruti Revaji	3rd Year2020-21	25	23	2	92.00
58	Netake Amruta Kisan	3rd Year2020-21	25	22	3	88.00
59	Padval Abhijit Rajshekhar	3rd Year2020-21	25	22	3	88.00
60	Palkar Aakanksha Jitendra	3rd Year2020-21	25	21	4	84.00
61	Pandhare Harish Bharat	3rd Year2020-21	25	23	2	92.00

62	Panhalkar Prajkta Rameshwar	3rd Year2020-21	25	20	5	80.00
63	Pankhade Shruti Sanjay	3rd Year2020-21	25	22	3	88.00
64	Pardeshi Sarthak Dattatraya	3rd Year2020-21	25	21	4	84.00
65	Pardhi Darshana Navanath	3rd Year2020-21	25	22	3	88.00
66	Patil Darshana Nitin	3rd Year2020-21	25	21	4	84.00
67	Patil Jayesh Ramakant	3rd Year2020-21	25	23	2	92.00
68	Patil Sujit Rajendra	3rd Year2020-21	25	23	2	92.00
69	Pawar Jyoti Jivan	3rd Year2020-21	25	21	4	84.00
70	Pawar Kishor Pandit	3rd Year2020-21	25	21	4	84.00
71	Pawar Prathamesh Rajendra	3rd Year2020-21	25	21	4	84.00
72	Phand Jyoti Vilas	3rd Year2020-21	25	20	5	80.00
73	Rahate Mayur Vilas	3rd Year2020-21	25	19	6	76.00
74	Ranmale Shubham Arvind	3rd Year2020-21	25	19	6	76.00
75	Rasal Shruti Umesh	3rd Year2020-21	25	20	5	80.00
76	Rasal Supriya Ashok	3rd Year2020-21	25	21	4	84.00
77	Sapkal Vaishnavi Datta	3rd Year2020-21	25	21	4	84.00
78	Shaikh Misba Abdulrahim	3rd Year2020-21	25	23	2	92.00
79	Shedge Saurabh Suresh	3rd Year2020-21	25	22	3	88.00
80	Shejul Gaurav Ramkisan	3rd Year2020-21	25	21	4	84.00
81	Shinde Pankaj Marotrao	3rd Year2020-21	25	20	5	80.00
82	Shinde Sarang Ramrao	3rd Year2020-21	25	19	6	76.00
83	Shrimangale Dnyaneshwari Ramesh	3rd Year2020-21	25	23	2	92.00
84	Sirsat Akash Gajanan	3rd Year2020-21	25	22	3	88.00
85	Solanke Suraj Ashok	3rd Year2020-21	25	22	3	88.00
86	Sonawane Prachi Ramkisan	3rd Year2020-21	25	21	4	84.00
87	Suradkar Shubham Rajendra	3rd Year2020-21	25	23	2	92.00
88	Swami Siddhant Ravishankar	3rd Year2020-21	25	20	5	80.00
89	Tamboli Muskan Javed	3rd Year2020-21	25	22	3	88.00
90	Tormal Ravikumar Madhavrao	3rd Year2020-21	25	21	4	84.00
91	Valvi Anosh Gulab	3rd Year2020-21	25	22	3	88.00
92	Vighne Amruta Nanasaheb	3rd Year2020-21	25	21	4	84.00
93	Wagh Pooja Popat	3rd Year2020-21	25	23	2	92.00
94	Wagh Suyasha Ishwar	3rd Year2020-21	25	23	2	92.00

95	Waghmare Apeksha Anil	3rd Year2020-21	25	21	4	84.00
96	Walekar Vaibhav Arun	3rd Year2020-21	25	21	4	84.00
97	Walhekar Hindavi Arun	3rd Year2020-21	25	21	4	84.00
98	Yeole Tanvi Pravin	3rd Year2020-21	25	20	5	80.00
99	Zori Maheshwari Narayan	3rd Year2020-21	25	19	6	76.00
100	Zunjakar Shraddha Sunil	3rd Year2020-21	25	19	6	76.00